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QUESTION 1

Relative to a Design of Experiments the term Collinear refers to variables being a of each other.

A. Linear combination
B. Directly parallel

C. Mirror image

D. None of the above

Correct Answer: A

QUESTION 2

When doing Hypothesis Testing on Non-normal data Belts will use a to compare more than two
sample proportions to each other.

A. Z score Table

B. Sakami Table

C. Mean-to-Mode Analysis
D. Contingency Table

Correct Answer: C

QUESTION 3

Sally and Sara sell flower pots at their garage sale. Sally motivates Sara mentioning that they will sell a minimum of 15
pots per day if the outside temperature exceeds 600 F. From a sample, whose population is assumed to follow a Normal
Distribution, taken for 30 days at 60 degrees or more an average of 13.6 pots per day were sold with a Standard
Deviation of 0.7 pots. For the sales accomplished above, what test would validate if they met their requirements?

A. F Test

B. Test for Equal Variance

C. Chi Square Test

D. One-Sample t-Test

Correct Answer: D

QUESTION 4

When a Belt implements an improvement that is automated thus requiring no particular understanding for use he has
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applied which Lean tool?
A. Mistake Proofing

B. Kaizen Event

C.5S

D. None

Correct Answer: A

QUESTION 5

A Belt working in a supply chain environment has to make a decision to change suppliers of critical raw materials for a
new product upgrade. The purchasing manager is depending on the Belt\\'s effort requiring that the average cost of an
internal critical raw material component be less than or equal to $4,200 in order to stay within budget. Using a sample of
35 first article components, a Mean of the new product upgrade price of $4,060, and a Standard Deviation of $98 was
estimated. The Alternative Hypothesis in the above example is?

A. The Standard Deviation is equal to $300.

B. The Mean is less than $4,320.

C. The Mean is equal to $4,060.

D. The Mean is less than $4,200.

E. The Mean is greater than $ 4,200.

Correct Answer: E
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